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Round #0 

A = 7   
B = 42 
C = 63   
 
Round #1 

A = 
1
4
   

B = 32   

C = 
65
π

 

 
Round #2 

A = 155  
B = 3 

C = 300π    
 
Round #3 

A = 2 21    

B = 
35
5

   

C = 
348
5

or 
369
5
   

 
Round #4 

A = 
4
7

−    

B = 
4
11

−  

C =  or     ( ) 2 72f x x x= − − 2 72x x− −

 
Round #5 
A = 192  

B = 
59
191

 Changed to 
885
3056

at the convention. 

 

C = 
132
59

 Changed to 
2171
885

at the convention. 

 
 
 

Round #6 
22 2x −    A = 

B = 3   

C = 
8 10 9

35
+

   

 
Round #7 

A = 20 3    

B = 599 

C = 4344 or     54344
 
Round #8 

A = 
5
24
π

  

B = 
3 2
2

−
   

C = 
48 16 2

7
+

  

 
 
Round #9 

A = 9   
B = 19   
C = 77 
 


